
Trosa
Height Adjustable

Meeting Table
Assembly Instructions

 



2 3

A x32
M6x16 F6S 10.9 FZB

B x2
M4x6 MRX-GF FZB

C x1

1.

M6x16 F6S 10.9 FZB (x40) - ramrör

M4x6 MRX-GF FZB (x2) - bordskontroll

4x8

A



3

2.
B x2

C



Innovation House, 39 Mark Road
Hemel Hempstead
Herts.
HP2 7DN
0330 133 1937


